TX300 & TXI50 COMMERCIAL SOLAR LIGHTING SYSTEM

SCLAR @MADEINCANADA

IMPORTANT: Always install the system assembly on the pole before inserting the batteries.
The assembly system should never be handled when the batteries are installed inside.

LIST OF MATERIAL BY MODEL

TX150 SYSTEM:

TX300 SYSTEM:

Battery/Control main enclosure

Battery/Control main enclosure

Battery, 12V (1 per system)

Battery, 12V (2 per system, in series)

L shape profile, 30in long (2 per system)

L shape profile, 30in long (2 per system)

L shape profile, 26in long (2 per system)

L shape profile, 53in long (2 per system)

Solar Module 150W (1 per system)

Solar Module 150W (2 per system)

3/8” stainless steel hardware for assembly

3/8” 5/16 stainless steel hardware for assembly

5/16” stainless steel hardware for solar module
assembly

5/16” stainless steel hardware for solar module
assembly

LED luminaire, 12Vdc compatible

LED luminaire, 24Vdc compatible

2ft Elliptical tube mounting arm (Hardware not included)

2ft Elliptical tube mounting arm (Hardware not included)

Note 1: The TX150 system is a 12Vdc system with one (1) 12V battery and one (1) 150W solar module. This system is

compatible with an LED luminaire operating at 12Vdc only.

Note 2: The TX300 system is a 24Vdc system with two (2) 12V batteries in series and two (2) 150W solar modules. This
system is compatible with an LED luminaire operating at 24Vdc. Do not use a 12Vdc luminaire on a 24Vdc system.

This will cause permanent damage to the LED driver.

TX150 System Components

*Elliptical tube mounting arm and luminaire NOT shown

TX300 System Components

CEP

L

*Elliptical tube mounting arm and luminaire NOT shown

Solar Vision inc. www.solar-vision.com

info@solar-vision.com T.1-819-729-0450

Revision 3.0

P.1/10



—

C'/_\l\l\ —
0 05D MM SR LETRGT©— oe () oo

T

TX150 FINAL ASSEMBLY TX300 FINAL ASSEMBLY

STEP 1:
Using the 3/8-16 x 174” bolts and hardware (hex bolt, flat washer, lock washer and hex nut), tighten the
two 30in “L” channels to the “main support” as indicated on the image.

This step is identical
for the TX150 & TX300

STEP 2:

Using the 3/8-16 x 1” bolts and hardware (hex bolt, flat washer, lock washer and hex nut), tighten the
two “L” channels (26in or 53in according to model) to the “30in L channel” as indicated on the image.

TX150 TX300

Solar Vision inc. www.solar-vision.com info@solar-vision.com T.1-819-729-0450

Revision 3.0 P.2/10



—

c'ﬁ\y'\"‘ n .
TA300 & TXIS0 CONNERGIAL SOLAR LIGKTING SYSTEN = wision ®> ~LLl,

T ——

STEP 3:

Pass through the luminaire power cable (preinstalled in the battery box) into the 90 degree connector
to make it available for the luminaire connection. 10FT, #16 AWG is pre-wired.

TX150

STEP 4:
1. Determine the system’s orientation so that the solar panels are facing South.

2. Once the orientation is determined, use the drilling guide at the end of the document to drill holes
at the proper location.

3. Slide the system on the pole and use the 3/8”-16 x 67%” bolts and hardware to secure the system
into position. Bolts crosses the pole.

STEP 5:

Using the 5/16-18 x 1” bolts and hardware (hex bolt, flat washer, lock washer and hex nut), install the
solar panels using their precut frame holes.

Note: The solar panel junction boxe needs to be on the down side.
TX150

Solar Vision inc. www.solar-vision.com info@solar-vision.com T.1-819-729-0450

Revision 3.0 P.3/10



You |
TH300 & TXI50 COMMERCIAL SOLAR LIGHTING SYSTEM > Viston 0>MA“““°A"A”A

STEP 6:

1. For the TX300 only, make a serial connection between the solar panels, as shown in the picture
(The positive cable of one panel with the negative cable of the other panel).

2. Then connect the two remaining cables to the MC4 (pre-wired) connector on the main battery com-
partment as shown on the image.

TX150 TX300

s W W

STEP 7:

1. Following the + and - (positive and negative) orientation as indicated in the battery compartment,
insert the batteries.

2. For the TX300 only, using the supplied cable, make a serial connection between the batteries
(The positive terminal of one battery with the negative terminal of the other battery).

3. Then, by respecting the cable polarities, complete the batteries connection by using the pre wired
cables in the battery compartment.

N 1 TX300
ONLY

& O

Solar Vision inc. www.solar-vision.com info@solar-vision.com T.1-819-729-0450

Revision 3.0 P.4/10



AR @ |
TX300 & THISD COMMERCIAL SOLAR LIGRTING SYSTEN > vision () o

STEP 8:

Close the battery compartment door using the 1/4”-20 bolts
and neopren washers.

STEP 9:

Install the pole arm and the luminaire at the desired location,
approximatly 24in underneath the battery compartment.

Hardware not provided for the pole arm.
Pole arm and luminaire specifications are included herein.
The DC lighting fixture has 3 wires:

Positive Red(+), Negative Black(-), and Dimming White
(signal). Please make all 3 connections for proper opera-
tion.

DAY-NIGHT TRANSITION

The TX300 solar system uses the solar panel to detect day and night periods. The night transition re-
quires a very low brightness level for 5 continuous minutes. This constraint prevents false night transi-
tions that could be caused by storm clouds in the evening. If the solar module is covered with debris,
the solar module voltage may be too low and may cause light synchronization errors. If the light works
erratically, make sure the solar module is clean. The light automatically corrects synchronization errors
whithin 24 hours.

IMPORTANT

If you wish to store the batteries, they need to be recharged before storing for a period of 15 days or
more in order to prevent damage to the battery. The batteries must be stored at 20°C room temperature.

The light must be installed in an open area, no trees or nearby structure, this could favor snow accu-
mulation and shading.

Never manipulate the battery compartment when the batteries are inside. Use the quick access door to
remove the batteries before handling. Failing to follow these recommendations can result in seri-
ous danger and dammage.

SOLAR PANNEL ORIENTATION AND AUTONOMY

Orientation Period Autonomy losses

Annual 0%
South (= optimal) Summer 0%
Winter 0%

Annual -21%

East / West Summer -15%

Winter -40%

Annual -50%

North Summer -41%

Winter -712%

Solar Vision inc. www.solar-vision.com info@solar-vision.com T.1-819-729-0450

Revision 3.0 P.5/10



|

L 4O | 133HS AHOIEM 601 3TVOS ‘QaugHoyd ONMYIAIIVOSION Oa

SINOISIA d¥10S 40 NOISSIWAId NILLIIM
JHL INOHLIM JTOHM V SV JO Lavd

_. N3 |NO|OW | \OOMHX._. < NI NOILONQO¥dFY ANV "NOISIA ¥v10S HSINK

A 40 AL¥3dO¥d T108 JHL S| ONIMVAA
ATY ONSOMA  ams SIHL NI GINIVINOD NOILYWHOANI 3HL WINALYW
TVIINIQNOD ANV AYVIIRIONd 34 ONONVAIIOL

Z m m |_||_|<ﬂ_ O Z _l_ l_ _ M D V'O DIYIAWOID 133dIIINI
1SOd HONI'§ BN ot s R

W9°0%  TYWIDIA 3OV1d OML

09 _.X._.\OOMUX._. JILLL 6LNArZZ 04 aBIOIHO VIO

6LNNr L2 104r NMVad SFHONI NI FIV SNOISNIWIQ

INFWWOD alva IWVN d31HI23dS ISIMAFHLO SSTINN

‘alay umoys
jou wiaped BuljjLip uoua)

a3dNnTTONI LON 3710d ¢l IMVDS

d 11vV14d
T~

"UOID||DISUl BY} 81DH|IO0)
O} S90D} ¥ 8y} UO ||uq &

‘1sod dwi|
2y} ybnolyy sjjoq z Buisn
PaIN28s 8] ||Im dwp| 8y] 000¥

‘ulnyiod Bulup pajussaid
oy} Jad sp jsod ay} buljup

salinbal jsod dwp| ayl
J0 doy 8y} Uo xoq Alalpqg

9y} JO Uo|B[|ofsul syl 0SZ'|
-41ON »
=  00SZ 00S @ "dAL

P.6/10




TENON

Hardware 1/4-20x1” (4x) included for installing the tenon. Please coordinate drilling holes with
your pole manufacturer.

@ 2.38in
60 45mim
; - — =
4070
01 %4mn
| O >,
|l 400in @ 38in
[101.60mm | (9. 65mm]
= == —
i v Bl
L i
4.00in 3.23in
01 40mm 82.00mm
P Fis !
! il
¢ o
3.23in
82.00mm

P.7/10



SERIES-H
LED STREET LIGHTS

INSTALLATION INSTRUCTIONS

IMPORTANT SAFEGUARDS

When using electrical equipment, basic safety precautions should always
be followed including the following:

READ AND FOLLOW ALL SAFETY INSTRUCTIONS

1.

5.

To avoid the possibility of electrical shock, turn off power supply before
installation or servicing. Installation and servicing should be performed
by qualified personnel.

. When closing cover of fixture, be sure all wires are inside housing to

avoid pinching wires.

. If Photo Receptacle is installed refer to “Photo Control” section for

instructions.

. Product must be installed in accordance with your local electrical code.

If you are not familiar with these codes and requirements, consult a
qualified electrician.

Do not change the structure or any commponents of the fixture to
ensure safety.

SAVE THIS INSTRUCTIONS FOR FUTURE REFERENCE

TO INSTALL:

*Max installation height: 15M
*Pole fitter diameter: ® 60mm (2.4”) / *48mm diameter need longer screws
*This product must be grounding

*1 Allen Wrench: 4mm (5/32”)
*! Inner Hexagon Screw: M5 (3/16”)

\_

/9 Allen Wrench*! \

Cover in Open Position

Heatsink

/‘%

*2 Allen Wrench: 6mm (7/32”)
*2 Inner Hexagon Screw: M8 (5/16”)

G

REV1403ALHSL-1

STANDARD MOUNTING

STEP 1:

Adjust the multi-angle fitter (0, 5,15 degree
vertical and 0, 10, 15 degree horizontal) to
proper position by 4mm (5/32") allen wrench.

STEP 2:

To open cover, hold fixture by heatsink with
the light modules facing down. Remove 2
screws on the cover by 4mm (5/32”) allen
wrench.

STEP 3:

Keep the cover in open position, lead the
Input Wires in through the M16 (5/8”) water-
proof connector (see @), Do not tighten.
Slide fixture onto pole (see®) and adjust

to level position. Once desired position is
achieved, tighten (2) mounting bolts (see (©).

STEP 4:

Connect the Input Wires into Terminal Block,
Reference “Electrical Connections” section
for completing electrical connections.

STEP 5:
Close the cover, tighten (2) mounting bolts.

P.8/10



IMPORTANT
DC(Direct Current) based system.

STEP 1:
Make the following Electrical Connections:

DC BASED

a. Connect INPUT POSITIVE(+) conductor to RED WIRE position FIXTURE WIRING
of the terminal block or POSITIVE(+) conductor of LED driver.

b. Connect INPUT NEGATIVE(-) conductor to BLACK WIRE

position of the terminal block or NEGATIVE(-) conductor of POSITIVE(+)

LED driver.

€. Connect INPUT DIM SIGNAL (WHITE WIRE) to Dim signal of NEGATIVE(-)

LED Driver.
DIM Signal
(white)

INPUT WIRING

STEP 2:
Make sure all excess input wires are pushed into pole, screws are

tightened.

TERMINAL BLOCK

O+ Q

POSITIVE(+) RED

O

© O

NEGATIVE(-) BLACK

|OI

O -0

DIM Signal (White)

Y3IAINA a3

STEP 3:
Close cover by firmly pushing cover towards fixture, making sure
that no wires are pinched and Sealing gasket are fully engaged.

STEP 4:
If the fixture without a terminal block, please insulate all electrical
connections with wire nuts suitable for at least 90°C

This marking indicates that this product should not be disposed with other household wastes throughout the EU.
To prevent possible harm to the environment or human health from uncontrolled waste disposal, recycle it
responsibly to promote the sustainable reuse of material resources. To return your used device, please use

the return and collection systems or contact the retailer where the product was purchased. They can take

B this product for environmental safe recycling.

P.9/10



OPTIONAL ACCESSORY

Elliptical pole arm : Supplied only when part #RE2MA is added to the order. This then replaces
the standard tenon indicated previously in this guide.

Hardware not included for the pole arm installation. Please coordinate the hole drilling pattern
with your pole supplier.

FEATURES & SPECIFICATIONS

L ]
APPLICATION
For round or square metal, aluminium or wood poles. Not for use with existing
concrete poles.
CONSTRUCTION
Aluminum: Body is schedule 40 (T20) aluminum pipe 6063-T6. Welding follows
industry standards best practices. I"
INSTALLATION
Mounting hardware is not included.
Installer to provide hardware based on pole size and type.
Note: Actual performance may differ as a result of end-user environment and
application.
Specifications subject to change without notice.
- o IR ||-I
— L — T
1-11114 i
] i
__.-"'-.:.- -
.-_,-"-. -__-"-. h"’-"ll? =1
.-". ."'l.
e H "I l
— A
-l___.-r"-.#,-’ i T TE
I.-... l-.-..-. r I
r"-..- ok f l-:l
-1 T (g
A it 1-14" dia
L Tt
el Catalog |
Number ) 6" x 178" sl —
SPECIFICATIONS
rogressive WALL
L H P ta;gaer (IN) Thickness
(FT) (IN) (IN)
AEZNLA 2 1 3 -3 0725 =172 - -3

P.10/10



